BORILLA oPORTS

PULL UP CEILING RACK (10000486)




SHRORILLA SI’IIHTS

Maximum loading: 350KG




Washer: (¢10)

©

2X

Bolt: (M8*65)

 — ]

2X

Hex Nut: (M8)

Bolt: (M10%15)

(o

2X

SHOORILLA oPORT

Washer: (¢8)

©

4x

Bulgy screw: (ST8%54)

8x




(mm ©

Bolt M10x15 2PCS Washer 210 2PCS
A
4
s @0?5
=

/O
@

yie
\°®




 — ]

Bolt M8*%65 2PCS

©

Washer @8 4PCS

@

A\

Nut M8 2PCS




Bulgy screw M3

Bulgy screw M8
AP

Bulgy screw M3
Q9P

0

@

Bulgy screw M8 8SETS

Bulgy screw M8

(

(@

(

wch< screw

M8

0 B




